Bihar Mathematical Society
TSTM (Olympiad) 2021 (Class-6)
Full Marks:- 100 Time: 2% Hours
Answer all questions. All questions carry equal marks.

10.

When a number is divided by 45, it leaves remainder 28. Find the remainder when the same number is divided by 15.
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If a and b are integers such that (a+bV2)? = 19+62, then find the value of a and b.
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A rectangle has a length 3 meters more that its width and a perimeter equal in value to its area. Then find the length of
its.
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There are two containers, first of them contains mixture of milk and water in the ratio 5:3, and the second contains
mixture of milk and water in the ratio 4:7. How many liters from the second container be mixed with 4 liters from the
first container so that in the resulting mixture the quantities of milk and water are equal?
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When price of petrol is increased by 16%, a man reduces his consumption by 25%. Find the percentage by which his expense
for petrol shall be decreased.
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Find with proof whether the line joining the orthocenter and circumcenter in a right-angled triangle is a median or a
perpendicular from a vertex to the opposite side or bisector of an angle or perpendicular bisector of a side.
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If [V(x+3)+V(x—3)]/[V(x +3) = V(x — 3)] = 3, then find the value of x.
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A man bought a horse for a certain amount and sold it at a loss of 8%.If he had received Rs. 1800 more, he would have gained
14%%. Find the cost price of the horse.
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The number 2000000...... 00 has 20 zeros. Find the remainder when it is divided by 11.
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Let ABCD be a trapezium in which AB | CD and AD L AB. ABCD contains a circle such that it touches AB at Q and CD at
P. Given that PC =36 and QB = 49. Find PQ.
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